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Instructions for the Candidates

Write your roll number in the space provided on
the top of this page.

Answers to short answer/essay type questions are
to be given in the space provided below each question
or after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes,
you are requested to open the booklet and
compulsorily examine it as below :

(i) To have access to the Test Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(ii) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of 5
minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will
be given.

Read instructions given inside carefully.

One page is attached for Rough Work at the end of
the booklet before the Evaluation Sheet.

If you write your name or put any mark on any part
of the Answer Sheet, except for the space allotted for
the relevant entries, which may disclose your
identity, you will render yourself liable to
disqualification.

You have to return the Test booklet to the
invigilators at the end of the examination
compulsorily and must not carry it with you outside
the Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc. is prohibited.

10. There is NO negative marking.
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SOCIOLOGY
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PAPER — III
JY-UF — 111

This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.

TE WITUA G Wl (200) ekl T & UG 36U 9R (4) @S 1 AT ol 37 | AR
YAl hT ST 3TeNT fed T forga FE9il o SIER ST &)



SECTION - 1
Qug -1

Note : This section contains five (5) questions based on the following
paragraph. Each question should be answered in about thirty (30)
words and each carries five (5) marks.
(5x5=25 marks)

e : T4 T H frefafad sese W e[ Ui (5) W9 &1 Tesh 99 &l W
T A (30) Wkl H oTUfe B1 UAS YA A (5) ARl HT T
(5x5=25 3{ehk)

Read the following passage and answer the questions :

Habermas develops a typology of different forms of knowledge : empirical
analytical knowledge, hermeneutics, and critical theory. Habermas claims that these
three types of knowledge are linked to three forms of a priori interests. These interests
are ‘basic orientations’ tied to essential conditions of reproduction and self-constitution
of the human species. Empirical-analytical knowledge aims at control and prediction,
whereas hermeneutics aims at understanding. Critical theory attempts to emancipate,
and it relies upon a combination of empirical-analytical and hermeneutic knowledge.
To emancipate is to question presuppositiones that previously were taken for granted,
and to eliminate socio-psychological constraints. In Habermas’s systemic terms,
emperical analytical knowledge operates at the level of “instrumental action” or “work”
hermeneutics at the level of “language” and “interaction” and critical theory deals

with “asymmetrical relations” or “power”.
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it o1 gei: fedl H i el § Ty § 19 fod ' wHe’ € S : Seed & eiferd il e
e (A T SATH-TEA W ST oM € | SHagels -~ averavieds: I &1 3299 ¥ o= e
Td e Safeh weared HEiEn o e © o1 THe | T e fosT o 9% 2 W § R
31l o1 G foral ST IR TH1 ot % STgHaaeh- [aecTauedeh I Td vrearel-Hwidn S
1 TFA Trl 7| 1ok T ferd 1 A e foR o qd-sheuiedl, SR T W Wi fermn e e,
3 W o o S STR TS -AeeIeh amal ol T fohal ST | ZoT i el
Hraeft Sreqreret! H, STgerHeish favetuicnes A ‘Hif>ek fohan’ s1eren ‘s’ o T I Al
T | vrsg-wimrE f 3R ¢ sTadere | o TR W qe weeeTe fagr (IR weey weei’ stea

‘g1’ S T 9L ShH HIT B

1. What is Habermas’s contribution to social sciences ?

T 1 FHITS T § o1 9 & 2
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2. How does critical theory help in the emancipation of the individual ?

getees fagr fora yer foret safaq &1 gfea o e ear g2

3. In what way hermenutics differ from empirical-analytical knowledge ?

Yeq-HHiET 3R ST e faeervuns 9 H T SR €2
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4. How are types of knowledge related to types of a priori interests in social sciences ?

qreTfSten formi © qer: fedi o1 9 o ol | 9 T § 2

5.  Why does Habermas consider critical theory as an improvement over empirical analytical
knowledge ?

T THtETHS ST 1 ST faveuumetes F1H 9 S8R i A1 § 2

J—0506 6



SECTION - II
Lug —1I1

Note : This section contains fifteen (15) questions, each to be answered in
about thirty (30) words. Each question carries five (5) marks.

(5x15=75 marks)

e 3G ©e d qu-uig (5-5) bl & Ugg (15) Yo &1 Teh 9 ol I
T A1 (30) VS W STUTRIT § 1 Uk U Ui 3fehi T B
(5x15=75 3ick)

6. What do you understand by Habermas’s theory of “communicative action” ?

TS & ¢ Feeeh foran’’ o fagr=a 9 319 o 99 2
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7.  What do you understand by Giddens Theory of structuration ?
firfeg & ¢ wgamaer " faga 9 o9 o= e €2

8.  What is Indological Perspective ? How does it view Indian society ?

qRer foren affe o § 7 YRdE 99 o 9¢ fohd &0 9 S@ar 2

J—0506 8



9.  Bring out D. P. Mukherjee’s contribution to the understanding of Indian society ?

AR TS 1 THgH | <141, TSt shi 1 <7 §2

10. Is corruption a social issue ? How can we eliminate it ?

FIN YRR Ueh A1 GeJ © 2 ST hdl TeH foham T dehl © 2
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11. Are urban slums a necessary evil ? Give reasons for your answer.

I IRy AfeH Rl Tk STevdeh gUs © 7 379 S & fe aeh wegd i

12.  What are the social consequences of displacement.

Toreenma= < s wreTTSIeh gy § 2

J—0506 10



13. Explain how Dalit Women are subjected to double oppression of caste and gender.

afera afgensti 1 sifa qen oifiter feafadi o wror 58 ey N9 B & 2

14. Explain the different forms of deviance.

foaa & fafie gRi &1 =ren wifsd |

J—0506 11 P.T.O.



15. Examine the role of Panchayats in the democratization of Indian Polity.

YErd IR faamed o1 fore a@ Torasi-ohtor SRt § 2

16. Examine the extent to which India is a secular state.

aRd fohd & aoh od ey & 2 fod=m wifsa |

J—0506 12



17. What is “White collar crime”? List the different forms of white-collar crime prevalent
in India.

" tRg et STy R § 2 NG | fafve YR o |ihe 9 STaUEl it Y o |

18. Why is tribal unrest always seen as a law and order problem ?

TSI ST 31 SH I e 1 foree w1 S & 2
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19. Write a note on the declining sex-ratio in India.

A H Rt T e &t foeremn sifs |

20. Give the reasons for the failure of poverty alleviation programmes in India.

94T 2aM o HTAHHI hi STHEIAT S T HRUT @ 2

J—0506 14



SECTION - III
Qug —II1

Note : This section contains five (5) questions from each of the electives / specialisations.

21.

22.

23.

24.

25.

The candidate has to choose only one elective / specialisation and answer all the
five questions from it. Each question carries twelve (12) marks and is to be answered
in about two hundred (200) words.

(12x5=60 marks)

39 ©e H g U gt/ fasioman @ o= (5) 99 § 1 31egefl o el T Ufeseh
TS/ TardToran ol et ST H § Uil J9Hi ol ST € | T W9 e (12) ki 1
¥ o ST I T S W (200) Vel H STufed ¥

(12x5=60 31eh)

Elective - I

faehea —1

Rural Sociology

ATHOT THTSIITE

Discuss the importance of peasant studies in understanding rural society.

IO A <l THEH | foham S1e999 o1 o1 Ao ©, S9! fae=T shifed |

Discuss the impact of migration on the social mobility of rural poor.

TTETOT AT SRt QTSI TfaRiierdr T Yois & 949Te ot fad=mn i |

Analyse the causes and consequences of factionalism in rural society in India.
TS TTHTOT FHIST § TedTe & Rl 1 qRome <6l fae=mr i

Discuss the socio-economic factors causing de-peasontisation in Indian villages.

JIOT YRA | TR 19 o |mitSes 27 mfefer ol o fawersor i ?

Explain how the mode of production in agricultural sector determines agrarian relations
in Indian society.

IR TS B, HT0 &5 F1 Scured ugia fohd YR it g o1 feior et §, fag=m &

OR / 1@
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21.

22.

23.

24.

25.

Elective - II

faerca—11

Industry and Society
T A T

What is meant by an Organisation ? Explain the significance of Line, Functional and
Line and Staff organisation, pertaining to worker-management relations in an industry.

TS o1 1 31 ® 2 SEMT H AiHeh-Ta-aH i ¥ Trai-ad e, g 3R oA U6 huan
TS & Hed & faa=mn &)

What do you understand by the term social security ? Discuss various social security
measures taken by the government of India, protecting the interest of industrial workers.

rTfoTen TRET 9 1Y 1 e © 2 STenfies gfent & fedi o6t gRan % foy TR TR 51 33
T TSI HReN o fafye swewl ot faa=mn i)

What do you understand by Trade Unionism? Bring out the historical development of
Trade union movement and its impact on the changing scenario of present industry.

A AeREEeTe T STT9 41 U € 2 Aieh 99 & SAT<la] o Ufderaeh faehd i gid e odqm
I o deeld IRGYA T $Hoh YA i =l i ?

What is Labour Welfare ? Explain various Labour Welfare Agencies, undertaking
welfare activities for the betterment of Indian Industrial workers.

ek e = 7 ? FfHE Fear st fafie Tt gu urdi sitdifier gfiei & gur s
fordl 38R T AR wET T faa=A R ?

What is meant by Collective bargaining ? Discuss whether worker’s participation in
management is successful in the present context of industrial development in India.

grfeeh VeI 1 91 219 § 7 YR & adHM faerd & ded # yore § gfie wiged fhe g5
Toh THA ©I T, THh! faer=m e ?

OR / 1%t
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21.

22.

23.

24.

25.

Elective - III
fereRea — 111
Sociology of Development

TaahTd hT QETSTITA

Discuss in brief the different theories of development.
foreprar o fafye fagr=di =t wfere ferarer whifsr 2
Show how tradition is being displaced as a result of development processes in India.

aRd H forehrd wt gfshanadi o shrur T YehR TRFa k1 TR B @I § 2

Critically examine the factors responsible for regional disparities in India ?

URd | &51T THAFAT b Hieh] bl THIAEHHS foIa=HT i |

Examine in brief Andr’e Gunder Frank’s theory of under-development.

3T TR Theh o 37eq foashra o fagr=a 1wt samen ifsr |

Critically evalute “Mixed-Model of Economy” as pracficed in India till recently.

qRd § 31ff o gaferd fufga stef-orereen o Area &l AT=HIcHS Hedishd hifad |

OR / 1@
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21.

22.

23.

24.

25.

Elective - IV

faerea—1v

Population & Society

SHEAT T HHS

Critically examine the impact of population growth on India’s development.

ARA o faeme T SEEA gig & Y9TE i AT ST |

What is population explosion ? Critically relate various factors responsible for the
excessive growth of population in India since 1901.

e foune 91 87 99 1901 9 9Rd § STfs S6en gig & o Scert &rel &t
IEEEEIETY

Critically discuss Malthusian theory of population and relate it to various incidents
happening around the world and particularly in India.

HIooH & TTEEIT o Tag ol STc=HTcHs ARl i 311 fava o fafis &= fae &+ ara &
S T TN H 39 & el hl <9I |

Bring out the objectives of population education and suggest the means by which
population education can be outreached to non-school going population.

TG o8 o SEYAl i AT Y IR Thel | S ATl SAETE! ek SHEEA e 1 ugaH %
forar gemel ot &ga *{|

Critically analyse the socio-cultural factors influencing fertility in India.

SIS Sl GHIfOd T el HHIMSeh — HIEhiqeh iRkl il HHICEHIETS ATl |

OR / 1%t
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21.

22.

23.

24.

25.

Elective - V

faswea—v

Gender & Society

fem sk amr

Critically evaluate the effectiveness of government schemes meant for women’s
development.

Tfge forh & oIt 3SR T3 UHehT hTishHI shi HILfhdl hl Hodish i |

“Gender roles in the family are hierarchic rather than complementary in nature.”
Comment.

" qftem  <ifiTeh YifieRT o1 T QT TRl elet STTUshATHe ordl ¢ | feooft &

Distinguish between patriarchy and matriarchy and show how gender relations are
determined in matrilineal societies.

T oiR T § fadie st qen gt for Argesia oSt # wifies deiel o o frg yr
AR

Explain how the post-modernst approach is helpful in deconstructing patriarchal
ideology ?

IW-3MYFRAE IUFM ford TR frgadrers fagra & faeudeo § Aeg &l €72

Critically evalute the different perspectives on gender and development.

fein wd foerre @ Heifud fafs afedi o1 stretremrens qeish i
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SECTION - IV
Qug—-1V

Note : This section consists of one essay type question of forty (40) marks to be answered

in about one thousand (1000) words on any of the following

topics. (40x1=40 marks)

e : T WS H T Al (40) 3! i Fererers wen § fowe sw frefafaa fawl § @
AT Teh T, T Teh TR (1000) Veal § 31aferd 7 (40x1=40 3ieh)

26. Write an essay on the emergence and consolidation of middle-castes in India ?

ARA H T Sl o ST a1 |18 W ey fod |
OR / 3teran

Write an essay on Indianisation of sociology.

TR & ¢ IRAEe’’ ) T ey fag ?

J—0506 31 P.T.O.
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